H & 0l & AHS B Ml A

ST 2 0t
2E& 2el € N2 (M=R/EE)
SEAMY 2tel EER=E)
LA BRAE) - RN - BAS of v e HIDE2
2o 38,968,567 32,614,215 6,354,352
= 21,864,421
[ 535,736
= 4,9%7,827
Al 11,600,583
2 el & NA(MISR/28) 5,054,738 2,903,131 2,151,607
== 722,477
Al 4,332,261
2E2AIY 2el 5,004,738 2,903,131 2,151,607
= 722,477
Al 4,332,261
Ml X2 876,924 746,031 130,893
1 Q1244 4,624 4,031 593
U IIRINZZENSES 4,624 4,031 593
OEEANE S EE2AE 33H| 22
144,480 x8H 22 +23 4,624
201 et 3| 3,000 10,000 AT7,000
01 AtR2tc|bI 3,000 10,000 A7,000
Oz g% =& 3,000,000& 3,000
301 LELE NS 720,300 603,000 117,300
03 AL 2 EH 263 (XL E) 720,300 603,000 117,300
O8Ed =IIREA & BERSL WL
o 50,0002 +1,666% 83,300
ORVNBEUAT Z0+Z
600,000,000& 600,000
O=JI22U A A2
10,000,000 10,000
OFHRSA AMLRAZS 21,000,000 21,000
ONSRARE Y2
6,000,000& 6,000
307 @I2t01 & 149,000 129,000 20,000
02 QB HANSEER 3,000 0 3,000
OS4+UPXE FLNP NS X2
3,000,000 3,000
03 M EE2SHIEX 102,000 85,000 17,000
OlietaolZ g2l AFEAIXIZl 288 X2
14,000,000 14,000
otstdE==2EREl AIEAKE 28] X
! 14,000,000 14,000
oustd==0I2els AEAIXIZ 22|
A& 14,000,000 14,000
oHstRE=2ital AdAIXE 28] XI&
17,000,000 17,000
OUet2gd &A=l AHEAIKIZ 2E8] Xl
el 14,000,000& 14,000




A RIS R
M 2t B 22l L N (AE=X/EE)
o2l JI B2AE 2l (CHol: &S1)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
OHst6 - HEMERS A3 AHEAIXIE] 2|
X 14,000,000& 14,000
OUStIFHER3] AFEAIXIZ 2gH| XI&
12,000,000& 12,000
0B=3 LR H2HETS X
3,000,000& 3,000
" AMSI=SXAIEEE 44,000 44,000 0
OE=tH MFA =d 44,000,000 44,000
SSAL XA 31,300 10,000 21,300
201 Ler2 | 19,500 0 19,500
03 A2 | 19,500 0 19,500
O8sg =84 15,000,000 15,000
O8ZzY =84 XHAX=
1,500,000 *3CH 4,500
301 LetENEZ 1,800 1,800
11 HALAHIXIEZ 1,800 1,800
O EY g4 UHJSAMA ABIXIAS
30,0002 +60H 13| 1,800
307 QI2Hol ™ 10,000 10,000
04 QIZHHAIAIE E X 10,000 10,000
O6 - 258 J|E At 10,000,000& 10,000
2EEAS 22| 30,000 30,000
201 B2 AL| 10,000 10,000
02 2324l 10,000 10,000
OMESZZER 2223 & MAl
8,000,000& 8,000
OMESZZERE ANEZHISXIH
2,000,000& 2,000
401 Al&HIZ20HY| 20,000 20,000
01 AlEHI 20,000 20,000
OE=Ald EHl S 20,000,000& 20,000
6-25 FHHU-Z 440,320 435,520 4,800
= 237,520
Al 202,800
301 LetENEZ 440,320 435,520 4,800
& 237,520
Al 202,800
03 MBI E & A 6I2(RILTHE) 440,320 0 440,320
06 - HHERSA Holl= X
440,320,000& 440,320
= 237,520
Al 202,800
2N FH Hol=+E 1,158,000 1,000,800 157,200
= 424,800
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ARSI b= 1= NG Wy
M 2 2& 22l E NF(MEIEX/EE)
SRl = 2ES2AE 2l (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSRt o=l X
978,500 x4 3,914
= 1,957
Al 1,957
NES=SE &3 Xd 1,900,000 1,900,000
401 Al HIZ S 0HHI 1,900,000 0 1,900,000
01 Al&H 1,900,000 0 1,900,000
ONHE2ZE &F T8 BM
1,900,000,000& * 11 2 1,900,000
ME=ZZEX 0|8 =4 455,000 15,000 440,000
307 glztol & 5,000 0 5,000
02 2B YA E X 5,000 0 5,000
OAE=Z2X Old /LM X&
5,000,000& 5,000
401 Al HIZ S OHHI 450,000 15,000 435,000
01 A28l 450,000 15,000 435,000
OAME=2Z2X 0I18 =4
450,000,000& 450,000
IZHEDH(AMRSX /IS EH) 31,288,980 27,284,369 4,004,611
= 21,804,421
= 535,736
=S 4,245,350
Al 4,643,473
| ZYEEH 24,768,823 21,980,327 2,788,4%
= 18,247,315
= 58,608
< 3,747,830
Al 2,715,070
A= 0 22,219,932 19,042,478 3,177,454
= 17,775,946
== 2,221,993
Al 2,221,993
301 22N 22,219,932 19,042,478 3,177,4%4
= 17,775,946
S 2,221,993
Al 2,221,993
01 Al EE AL S(FRDEXMA) 22,219,932 19,042,478 3,177,454
HAHS O 22,219,932
ot 21,019,932,000& 21,019,932
= 16,815,946
=S 2,101,993
Al 2,101,993
oAl& 1,200,000,000& 1,200,000
= 960,000




AR v NG Wy
M JIZMSBE(AMEEX /=S EE
Chel: FAD=HEEHE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 120,000
Al 120,000
== 61,327 47,063 14,264
308 AHXIEMSOIE 61,327 47,063 14,264
08 W20t etEx 61,327 47,063 14,264
(©ME=s={0} 61,327,000& 61,327
SHAE NSO 182,381 143,607 38,774
= 145,905
= 18,238
Al 18,238
301 LEtE N = 182,381 143,607 38,774
= 145,905
== 18,238
Al 18,238
01 Al EEAS6S (2 REEM 182,381 143,607 38,774
Odfiat - FH=N 182,381,000& 182,381
= 145,905
[ 18,238
Al 18,238
2= =ibl X2 A 81,200 81,200 0
= 81,200
201 2= 81,200 81,200 0
= 81,200
01 AlR22IH| 81,200 81,200 0
OF2AT Sy KB Al
81,200,000 81,200
= 81,200
Mol —= 44,500 198,200 /153,700
= 44,500
201 er23 | 5,500 5,000 500
= 5,500
01 At 2|l 5,500 5,000 500
OZAIFAHAIE EXE Wi £ MHol7S=
A 2 5,500,000& 5,500
< 5,500
301 EetE NS 2,000 178,400 176,400
== 2,000
11 dALEBIXNIZE S 2,000 1,400 600
OMoli+= W=x 2,000,000& 2,000
= 2,000
302 01 M2 &= 37,000 14,800 22,200
= 37,000
02 2t S HESE2a=3 37,000 14,800 22,200




2A:
PSR
ool

Q1M D
p E PNV BIE FTEEES
=EIBIENEE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0l 215 37,000,000& 37,000
= 37,000
METAH X AL 218,528 560,000 A341,472
= 109,264
=S 72,770
Al 36,4%4
301 EtE NS 218,528 560,000 A341,472
= 109,264
= 72,770
Al 36,494
01 Al EE A S (2 RDEXMA) 218,528 560,000 A341,472
OME XA X3A 218,528,000 218,528
= 109,264
= 72,770
Al 36,494
g2 o2 0= ?= 91,560 60,000 31,560
301 EetE2 NS 91,560 60,000 31,560
02 A EE A S(FANE, XLETHE) 91,560 60,000 31,560
OZE & 02 AEl 22
91,560,000 91,560
ARISXIAIE SAHL XI& 59,800 52,000 7,800
S 11,960
Al 47,840
307 elztol & 59,800 52,000 7,800
= 11,960
Al 47,840
10 Al SAAEEHE 22X 59,800 52,000 7,800
OARISAIAIE SAHE =& X3
59,800,000 59,800
=S 11,960
Al 47,840
C=0SRAME 2H(HEAY) 1,264,425 951,112 313,313
= 1,264,425
307 @120l & 1,264,425 91,112 313,313
=S 1,264,425
10 Al SXAIEEHE2EHI 22X 1,264,425 91,112 313,313
Ogdg 28 XA (2-1e)
1,264,425,000& 1,264,425
= 1,264,425
C=0lAIE AR el2dl X 26,140 24,889 1,251
= 5,228
Al 20,912
307 el2tol & 26,140 24,889 1,251




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
Chel: FAD=HEEHE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,228
Al 20,912
10 Al SXAEEHE2EHI2x 26,140 24,889 1,251
OL=0IAE FHAE Q2| X
26,140,000& 26,140
= 5,228
Al 20,912
C=RNEdIsSEE 270,000 650,000 A380,000
= 135,000
= 94,500
Al 40,500
402 2IZtA=01d 270,000 650,000 /380,000
= 135,000
= 94,500
Al 40,500
02 PIHH2 AN 2 E (01T ) 270,000 650,000 330,000
OLSQU=TAE JIS22
270,000,000 270,000
= 135,000
S 94,500
Al 40,500
C=0IAE dAESA 29 10,000 10,000 0
307 Q120 10,000 10,000
1 ABI = XIAL X 10,000 10,000
OL-=0IAE LALSL 22HH UL
10,000,000& 10,000
MNASEsH W=H|l XA 10,470 7,125 3,345
101 e124d| 9,423 6,280 3,143
M ORNZZ2NSE S 9.423 6.280 3,143
ORASEZSM DY XA (LA
el24Hl) 9,423,000& 9,423
201 Zet=d] 1,047 845 202
01 At2teltl 1,047 845 202
OMNASESY WsH| NS
1,047,000& 1,047
ARISXAL 2= W=H] 5,000 5,000 0
301 EtE NS 5,000 5,000
14 0Bt 2as 5,000 5,000
OAIRISRIAF 4 W=H| 5,000,000& 5,000
ARISXIAL S Z3t XIS 5,000 0 5,000
307 elztol & 5,000 5,000
04 QIZHHALAIS 2 X 5,000 5,000
OAt2IS XA Sef2dst X2
5,000,000& 5,000




AR v NG Wy

M JZMEBE(AMSEX /I ZHEER)

Chel: FAD=HEEHE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NSARISAA "+ A 2 10,000 30,000 220,000

207 ARl 10,000 30,000 220,000
01 H1E4H| 10,000 30,000 /20,000
ORMISI| NSA 2 A2 20248 AXHE HI=
2 2RIN U N2 B
10,000,000 10,000
NASE A4 Yst=dHIs N2 19,800 29,500 29,700
=S 3,960
Al 15,840
301 EtE NS 19,800 29,500 9,700
< 3,960
Al 15,840
02 MBI 2HHSFHS(HAANS, KLHE) 19,800 29,500 29,700
OMAS T4 &5 =Hl=
19,800,000 19,800
= 3,960
Al 15,840
Ael=IJ1eh 24 X2 26,000 26,000 0
201 er2 3| 11,000 11,000
01 AtR2t2|HI 11,000 11,000
o2g+d 2,000,000 2,000
Oo=gHl 9,000,000 9,000
202 04l 12,000 12,000
01 2LHoIH 12,000 12,000
OZ2E&0H 12,000,000 12,000
203 HR=AH] 3,000 3,000
03 A= LR F&IH| 3,000 3,000
o=22ge =M S 3,000,000& 3,000
ARIFHAS KA 80,500 24,500 56,000
201 et 3| 21,000 15,000 6,000
01 AlR22IH| 6,000 3,000 3,000
OMBOIMTS 22| ADE P
3,000,000& 3,000
Oggt+==H| 3,000,000& 3,000
2 s5=34l 15,000 12,000 3,000
OMEIREIIZ 2AeZZ2H R B+
3,000,000& 3,000
osE2= & HA 8,000,000& 8,000
OXtgrset] 4,000,000 4,000
301 EtE NS 9,500 9,500
03 ALl 2 & 263 (XL E) 9,500 9,500
O"eA Xt 2ot odtl 1,500,000& 1,500
ORA LD AFZA Edlldl & Fota X2
8,000,000 8,000




2A:

0z 0z

>.—.—

ZolME TR
A J|ZMEEH(AM=EX /DI ZNEEH)
o IR ZMETE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 50,000 50,000
01 Al&H| 50,000 50,000
OXNSAt2HE HHS EA
50,000,000& 50,000
SEACIE R 5,000 5,000 0
201 ger=3| 5,000 5,000
01 AtR2te|H] 5,000 5,000
OSgac| gF eS|
5,000,000& 5,000
S ALK 4,000 4,000 0
201 er23 | 4,000 4,000
01 At2t2ltl 4,000 4,000
OSE XAl €2 Let+S
4,000,000& 4,000
Atell2tel BEXMA KA (2201 Atdi2tel XI) 73,260 0 73,260
[ 58,608
= 10,256
Al 4,3%
101 @124H| 73,260 0 73,260
= 58,608
[ 10,256
Al 4,3%
03 SR (RINHA) 222+ 73,260 0 73,260
OArZte| HEMA HE(AZSH Ateil2
2l Xg) 36.,630,000& »2H 73,260
= 58,608
[ 10,256
Al 4,3%
HAsE NHEXA 4,280,617 3,445,574 844,043
= 2,714,792
[ 166,724
= 272,184
Al 1,135,917
MNASE =4l K& 440,000 220,000 220,000
301 EetE2 N = 440,000 220,000 220,000
01 Al EE A S(FRDEXA) 440,000 220,000 220,000
ONASE =UALEE=E K&
440,000,000& 440,000
II‘)’“XF% ABIAHIA SXAIE (OARIE 2 =01 A 238,177 238,177 0
= 166,724
== 21,436
Al 50,017
308 AFAIEHMSOIH 238,177 238,177 0




AR v NG Wy
B ) EMERE(AISEX /)| EME D)
=@l MASE HENE (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 166,724
S 21,436
Al 50,017
1 SJ2S0UetE 4R ASAI S| 238,177 238,177 0
O} - 248 LR2E20| A
5,954, 4257 ~40&H 238,177
= 166,724
S 21,436
Al 50,017
a2z, XNAxade o 29nEdH2Y9 (22 2,661,009 2,300,784 360,225
A)
= 2,128,807
=S 159,661
Al 372,541
101 e124d| 457,009 496,784 A39,775
= 365,607
= 27,421
Al 63,981
M4 JRHNZ2Z2XSE+ 457,009 4%6,784 A39,775
OXt&22(AHRF) 457,009,000 457,009
= 365,607
= 27,421
Al 63,981
201 er2 3| 4,000 4,000 0
= 3,200
= 240
Al 560
02 S3=24gl 4,000 4,000 0
OXNEIZAIY SEH S5 78
4,000,000 4,000
= 3,200
= 240
Al 560
307 el2to| & 2,200,000 1,800,000 400,000
= 1,760,000
= 132,000
Al 308,000
05 2IHRIE S 2,200,000 1,800,000 400,000
OXtEI2Z2(AEE) 2,200,000,000& 2,200,000
= 1,760,000
< 132,000
Al 308,000
AHAIZERI HE A OHE (RH2EALEI2te) 30,707 0 30,707
= 21,495




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
Bel: NASS NI (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,764
Al 6,448
307 lztol & 30,707 0 30,707
= 21,495
== 2,764
Al 6,448
10 Al2ISTIAIEEE 22X 30,707 0 30,707
OArI2te| Y HMADHS (Rt AlI22])
30,707,000 30,707
= 21,495
== 2,764
Al 6,448
NS HE A0 A A 235t 1,750 0 1,750
= 350
Al 1,400
307 elzto| & 1,750 0 1,780
= 350
Al 1,400
1 AMEISXAIEEXS 1,750 0 1,750
OXSA TS HE IHEAMSEHA A3t
1,750,000 1,750
s 350
Al 1,400
KNS T2 EIE SAEAL A& 13,200 13,000 200
= 2,640
Al 10,560
307 elztol & 13,200 13,000 200
= 2,640
Al 10,560
10 Al SXAAEEHE 22X 13,200 13,000 200
OXSATEHE SALL XA
13,200,000 13,200
=S 2,640
Al 10,560
NS Tta?HE SEXNFAS 129,526 185,680 N26,154
S 25,906
Al 103,621
101 @124H| 129,526 185,680 N26,154
= 25,905
Al 103,621
04 JIZtNZ22 XS24+ 129,526 185,680 N26,154
OMAS XHS SEXNFAL
129,526,000 129,526
=S 25,905




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
Bel: NASS NI (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 108,621
ALY 2dst STAY 23,000 23,950 A950
== 4,600
Al 18,400
307 212+01& 23,000 23,950 A950
< 4,600
Al 18,400
11 AMEISXAEEES 23,000 23,950 A950
OXg 43t STAMY 23,000,000 23,000
= 4,600
Al 18,400
222, NAKSHE @ BANSMHSY (AT 253,082 241,601 11,481
HH29)
= 177,158
= 22,778
Al 53,146
307 el2to| & 253,082 241,601 11,481
= 177,158
= 22,778
Al 53,146
10 Al SXAIEEHE2EHI2x 253,082 241,601 11,481
OXIS e 24| 251,026,000& 251,026
= 175,718
< 22,593
Al 52,715
OXEE X2 A 2,056,000& 2,0%
= 1,440
< 185
Al 431
KA MAtE dXte| ST =X 15,000 15,000 0
= 3,000
Al 12,000
402 2IZtA=01d 15,000 15,000 0
= 3,000
Al 12,000
02 RIENSASEZ(0IETHR) 15,000 15,000 0
OXEAIY date 2Xjel 2HS 75
15,000,000& 15,000
[ 3,000
Al 12,000
ZesEA=s =842 g5 484,166 237,382 246,784
= 387,332
< 29,050




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
o MASEs AN (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 67,784
308 AtXIEHMSOIE 484,166 237,382 246,784
= 387,332
= 29,050
Al 67,784
1 SIS0t EAS A 484,166 237,382 246,784
O22suYs 22N 243N
484,166,000 484,166
= 387,332
= 29,050
Al 67,784
S|g=A A& 2,230,540 1,858,468 372,072
= 902,314
s 310,404
== 225,336
Al 792,486
A& S A& 253,400 237,600 15,800
201 =3 28,000 28,000 0
01 At22t2lH] 6,000 6,000 0
oget=ZH| 6,000,000 6.000
2 52484l 8,000 8,000 0
0332 € HAl 8,000,000& 8,000
03 A= I 14,000 14,000 0
OR= NHASAHA A= 10,000,000 10,000
ONHASAHA W= XI& 4,000,000& 4,000
301 22N = 5,000 5,000
11 dALEEIXIE S 3,000 3,000
O&= = THESAHU=R FIHAF AHIX&
1,000,000& 1,000
OXNBSAHE S RHE As FIHAF &b
A& 1,000,000& 1,000
OXRSAMAF S & fI3E FIHA &8IX
el 1,000,000 1,000
4 JIEt2d= 2,000 2,000 0
OXASALA 1T ZA= 2,000,000 2,000
307 elztol & 200,400 177,600 22,800
02 2B YAIHE X 14,000 14,000 0
OAEAl AHRSAIEHE QS K&
14,000,000 14,000
04 QIZHHAMAIH 2 £ 20,000 20,000 0
OXHASAHAL e0tSU 2l 20,000,000& 20,000
11 AMEISXAEEES 166,400 143,600 22,800
OArgel & LHDI 50,000,000 50,000




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
&t Y= XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0iA2AIly 2eret X3
19,600,000 19,600
OSHs AN2ASA 2datAtg XI&
16,800,000 16,800
o=o=X=gs X3 80,000,000 80,000
401 Al HIZL 201 20,000 20,000
01 Al&H| 20,000 20,000
OXNRASAHE ==c| & 2te|
20,000,000& 20,000
ANHASAH 243 X3 14,200 14,200 0
= 4,700
Al 9,500
201 fer= 3| 12,000 12,000 0
== 3,600
Al 8,400
01 At22t2l] 8,000 8,000 0
OXHSA 2435t X2 8.,000,000& 8,000
< 2,400
Al 5,600
2 s5=34l 4,000 4,000 0
OXNESAL 2435t K& 4,000,000 4,000
= 1,200
Al 2,800
301 EtE NS 2,200 2,200 0
== 1,100
Al 1,100
11 AALEEIXIE S 2,200 2,200 0
OF THEASAHL A== 2,200,000 2,200
& 1,100
Al 1,100
AHASAE 2OUI0IH N& 54 64,930 59,066 5,864
= 32,465
< 8,116
Al 24,349
101 @124H| 64,930 59,066 5,864
= 32,465
== 8,116
Al 24,349
03 SRA(RIH L) 222+ 64,930 59,066 5,864
OXHAS A 2OIUI0IH Q124
32,465,000 x2& 64,930
= 32,465
== 8,116
Al 24,349




2A:
PSR
ctel:

- o

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

P
o
O
=
kU

DCIHIoIE XE =

S (XHA)

15,000

8,000

15,000

8,000

15,000,000

15,000

15,000

8,000

hoH

=

5,361
2,680

804
1,877

6,098

ANT37

hoH

=

5,361
2,680

804
1,877

6,098

NT37

S
0
0
[0
02
=

O
=
o
O
=
pal
HT
0
t

5,361,000&

hoH

=

5,361
5,361
2,680

804
1,877

6,098

VAVASTA

INE-pAE=3=

ARIAEIA SXHARS

(X&)

SRR

291,000
204,000
43,500
43,500

303,204

A12,204

201 ¢

BhE= &

M

4,000
4,000

4,000

01 ArR2eltl
OXNSXEE AtalMHIA

SXAIS (K1)

4,000,000&

=Y

4,000

4,000
4,000

4,000

308 X

ball
o

S0

SRR

287,000
200,000
43,500
43,500

299,204

A12,204

1 S)|2S0UeB A2

(OPNE:PNS=3=:

A (X&)
287,000,000

SRR
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287,000

287,000
200,000
43,500
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NSAEE At2lAHIA SXHA
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(Z4E DISALXIZAL

SRR

13,434
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2,015

13,434

308 AXIMSOIA

13,434
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M FRIMEX|A
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9,404
=S 2,015
Al 2,015
1 S 2SI U ZBSHASAIE 13,434 0 13,434
OXSETEE AMBIMHIA SXHAIS (HE OF
SALXFAIY) 13,434,000 13,434
= 9,404
S 2,015
Al 2,015
2z N FoL 24 1,000 1,000
301 2= 1,000 1,000
11 dALEEIXIE S 1,000 1,000
OMBZY HM HOT 29
1,000,000& 1,000
ARISXEEHEH 25 2 245 ABAE 50,000 50,000 0
= 15,000
Al 35,000
307 gl2to| & 50,000 50,000 0
=S 15,000
Al 35,000
11 AMISXAIEEX 50,000 50,000 0
OAMISNE2HE 7= & 2d3t AIHA
& 50,000,000 50,000
< 15,000
Al 35,000
2e=X 967,911 584,383 383,528
= 774,325
[ 96,793
Al 96,793
301 LEIE NS 967,911 584,383 383,528
= 774,325
== 96,793
Al 96,793
01 Al 2E AL S(FREXME) 9%67,911 584,383 383,528
(OFI= =N 967,911,000 9%67,911
= 774,325
= 96,793
Al 96,793
NASE 2875 K& 15,000 15,000 0
301 2= 15,000 15,000
03 A 2E A4S (XL THH) 15,000 15,000
ONASE 2375 Y= X
15,000,000 15,000
s|&=X XA 29,000 19,000 10,000




2A:
PSR
ool

bl

HI
0>* ﬁo

( I SXI/IIZMEEH)

o My
02 b 12
JIT 0z 0z
2 (it o

ﬁ

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 18,000 10,000 8,000
01 At2teltl 8,000 8,000 0
Os|e=kl g2 8,000,000& 8,000
03 A= SHI 10,000 2,000 8,000
O3leLis AHIA 2 10,000,000 10,000
307 @I2to| & 11,000 9,000 2,000
1 AMISXAIEEX 11,000 9,000 2,000
OAtl =Kol Jlg&Ar X2
10,000,000 10,000
OM2S O0ls S8 L 1,000,000 1,000
NSARI2EEAN 248 38,500 34,000 4,500
= 6,000
Al 32,500
101 @1A4H| 38,500 34,000 4,500
=S 6,000
Al 32,500
03 SR (RIH )22+ 38,500 34,000 4,500
OXISA2I 2EE X 21AH] XI&
2,500,000« 1&~12& 30,000
< 6,000
Al 24,000
OXIHASI SEFE AN 1248 XI& (XHAI)
8,500,000« 1 8,500
NEAI 2 ZE2AM Al 93,000 93,000 0
201 et 3| 9,000 9,000
01 AtR2t2|H] 9,000 9,000
OZEt=EH| 9,000,000& 9,000
301 LELEE S 2,000 2,000
11 dALAEIXIRE S 2,000 2,000
ous & AoILE ZIt 1,000,000 1,000
OZ= NSz & d=0a &It
1,000,000 1,000
307 @120l & 82,000 82,000
1 AMISXAIEEX 82,000 82,000
OXSHA2ZE AN &4
40,000,000 40,000
OSHSNSA YN 435t A
42,000,000 42,000
SHSNAMNIESEAM 28 & M K& 20,200 22,200 22,000
= 10,100
Al 10,100
301 EetE2 N = 14,000 14,000 0
s 7,000
Al 7,000




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 14,000 14,000 0
Os8s XNGM2EE2AM 28 X2
14,000,000 14,000
= 7,000
Al 7,000
307 @12t0| & 6,200 8,200 /2,000
== 3,100
Al 3,100
11 AMRISXAEEES 6,200 8,200 22,000
OSHS NSFA2H AN At XI&H
6,200,000 6,200
= 3,100
Al 3,100
ANz SEAt 2l X (SSARISNEERA He) 7,600 8,000 2400
= 3,800
Al 3,800
201 etz 3| 3,800 4,000 A200
= 1,900
Al 1,900
01 At22t2l] 3,800 4,000 A200
OSeAtdIZel At 3,800,000 3,800
= 1,900
Al 1,900
301 EtE N = 3,800 4,000 A200
= 1,900
Al 1,900
01 Al EE AT S (2 RDEEMA) 3,800 4,000 A200
OSEAtdl2el XA 3,800,000 3,800
= 1,900
Al 1,900
SEAIZCIAL Q1] X (SSARISXEEMADHS 67,752 65,128 2,624
Ared)
= 33,876
Al 33,876
101 @124H| 67,752 65,128 2,624
= 33,876
Al 33,876
03 BRA(RIH )22 U2+ 50,814 65,128 14,314
OSEAtell 22l AL 21218]
2,823,000& 1.5« 122 50,814
= 25,407
Al 25,407
M JIZtHZ2 RS2 16,938 0 16,938




M FRIMEX|A
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSSAtIZCIAL Q12|
2,823,000 1 6& 16,938
= 8,469
Al 8,469
SEAtAZ2IAL 214H] X~ 11,560 5,800 5,760
101 21AH| 11,560 5,800 5,760
03 SR (RIH )22 UHE 4 11,560 5,800 5,760
OSE A2l AL e1248] XI&
5,780,000& »2H 11,560
SHS ¥ SEAMHIA X 138, 164 117,600 20,564
= 97,000
Al 41,164
201 Ler=23| 41,564 35,280 6,284
= 29,380
Al 12,184
01 AtR2t2|HI 41,564 35,280 6,284
OEYS AtdlZtelAte 41,564,000 41,564
[ 29,380
Al 12,184
301 2eEN= 96,600 82,320 14,280
= 67,620
Al 28,980
01 A2 HSHS(RRNEERTH) 9,600 82,320 14,280
OSHS A2l X2 96,600,000 9,600
= 67,620
Al 28,980
ZEE HRLIEINO AIHA 74,000 124,000 /50,000
s 37,000
Al 37,000
201 et 3| 3,500 6,500 A3,000
< 1,780
Al 1,750
01 AtR2telbl 3,000 5,000 22,000
OO HLHE T 2SI 3,000,000& 3,000
= 1,500
Al 1,500
02 S3=gl 500 1,500 1,000
Odgd HRALIEIO AEAS
500,000 500
=S 250
Al 250
301 2eEN= 51,000 81,000 /30,000
S 25,500




M FRIMEX|A
M JZMEBE(AMSEX /I ZHEER)
el =X A (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 25,500
03 A 2 H A0S (XL THH) 50,000 80,000 /30,000
Osg=ss Al K& 50,000,000& 50,000
s 25,000
Al 25,000
11 AALEEIXIRE S 1,000 1,000 0
OAOOHLIME S 1 1,000,000 1,000
S 500
Al 500
307 elzto| & 19,500 33,500 14,000
= 9,750
Al 9,750
11 AMISXAIEEX 19,500 33,500 14,000
OAHFLIENO Ot=dE K&
19,500,000& 19,500
< 9,780
Al 9,750
eISXs SESSAI (=) 55,168 55,168 0
= 55,168
201 et 3| 23,368 23,368 0
= 23,368
02 S3=gl 23,368 23,368 0
OPIEXs SS=SAE AbIA 23,368
o Al A2 4,000& %100CH~ 122 4,800
= 4,800
Si=tal] 15,1802 x100CH* 123 18,216
= 18,216
SAUEEINE=elS S o)
29331000~ 123 352
= 352
307 lztol & 31,800 31,800 0
= 31,800
11 MISXAEEE 31,800 31,800 0
OAHOIOHLIM Q124H] 31,800,000 31,800
= 31,800
eISks SESSA(ZHI) 4,360 4,360 0
== 1,308
Al 3,052
201 =3 2,800 2,800 0
< 840
Al 1,960
01 At22t2lt] 2,800 2,800 0




AR v NG Wy
M JZMEBE(AMSEX /I ZHEER)
ctelr =X X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCIEXs SS==AY 2|
2,800,000& 2,800
= 840
Al 1,960
307 @I2t0| & 1,560 1,560 0
== 468
Al 1,092
11 AMRISXAEEES 1,560 1,560 0
OAHOIOHLIM Q124H] 1,560,000 1,560
S 468
Al 1,092
WS (FUUSXAD) (ARSI =M 2E) 2,546,049 2,328,715 217,334
LIS HHXIE 2,546,049 2,328,715 217,334
JIEIAHEES 2,546,049 2,328,715 217,334
701 JIEtSI HSHES 2,546,049 2,328,715 217,334
01 JIEII AN ES 2,546,049 2,328,715 217,334
©91230113 SN HE3
2,546,049,000& 2,546,049
HH2IAH| (LU HE R ) (JIEHIIE 78,800 98,000 219,200
el 2| 12,000 9,120 2,880
el 2d| 12,000 9,120 2,880
101 21AH| 12,000 9,120 2,880
03 SRA(RIH )22+ 12,000 9,120 2,880
O02z220=2X 22N (HRFES)
6,000,000 6,000
O2AZRSH==SX 22N (BESZS)
6,000,000& 6,000
Jl=3H 66,800 88,880 A22,080
Jl=23H| 66,800 88,880 N22,080
201 er2 3| 8,000 8,000 0
01 AtR2t2|HI 8,000 8,000 0
ogegt+=ZHI 8,000,000 8,000
202 04| 55,200 77,280 A22,080
01 =LHOLI 55,200 77,280 A22,080
OZHEHNH 200,000 x23E «12& 55,200
203 HR=&H] 3,600 3,600
M EA2ER=A 3,600 3,600
ORNEgE =AY 300,000& * 122 3,600




